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AN ALY

M N RHUM(SEHLLL/ 5 - 5E)
& sarze] (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OsgIIEAIE Y & SX (M=K, 22,2
&, 24 8) 100,000, 000& 100,000
bSO (KA ALY ) , 100,000 200,000 900,000
401 Al HI K 201 , 100,000 200,000 900,000
01 A& tI , 100,000 200,000 900,000
Ostolititl 22 (X2, 848,54 S) iy
500,000,000 500,000
Ostoitibl =elAl8 (2,28 8) g &
&l 300,000,000 300,000
Ostoititl sLIIBtAIE(E+2 =2 S) &
=l 300,000,000 300,000
HE XAl 22 250,000 0 250,000
401 AIEHI L 20 250,000 0 250,000
01 A& tl 250,000 0 250,000
O 2H ¥ HII&H SA(ZU.EX)
150,000, 000& 150,000
OFU2HEX YZ2H ==EAS
100,000, 000& 100,000
SZIIEBtAIE 22l 2l 2| 53,440 0 53,440
101 @14l 53,440 0 53,440
4 JI2ZtHZ22HEE =+ 53,440 0 53,440
OM=X M EF=HMAH elAH]
66,8002 *8Hx102 «103] 53,440
HEX el Al 40,047 0 40,047
101 @124 dl 40,047 0 40,047
03 RIAHAZ 2B+ 220 0 220
O E IlsH 2 220
—&gsE 4062 140,000& *1H 140
— &5 80,000& x1H 80
04 D12t 22 HEE = 39,827 0 39,827
OBHZLHTI =2 & 22|l el 23,975
—Jles 66,8003 x 1 x2552 17,034
-5 66,8003 »1H 53 3,541
—AEB2EZ 200,000 x1H =123 2,400
— &0z 500,000& 1«23 1,000
OzZUW .2 2tEX LM H=HIA 2H
66,8003 x3H x50 10,020
OEdZHI =2 =M 24l
66,8003 x 1 +34 2,272
OBHZLHTI =2 A3 HA oAy
66,8003 x 1«50 3,340
OxXgE 1l=sH ¢ 220
—&gs 4ot 140,000& *1H 140

_12_




EXN: otE2AL D
M N RHUM(SEHLLL/ 5 - 5E)
ool saE CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
| | — A5 80,0002 * 1% 80
S8 Al 5,281,433 6,767,584 AN 1,486, 151
g 2,800,000
= 247,478
o 2,233,955
I HSIEAZ SLHAS 541,429 535,001 6,428
g 379,000
& 48,728
= 113,701
401 AlEHIZL 2 0HY| 541,429 535,001 6,428
Fag 379,000
& 48,728
= 113,701
01 Al&EH| 538,018 531,630 6,388
OJIAHSEEE SHLEAY
541,428,000 «99.37/100 538,018
Ry 379,000
& 48,728
- 110,290
03 A& 2 0HH]| 3,411 3,371 40
OJIAHSEEE SHLEAY
541,428,000 x0.63/100 3,411
S22 R2ES3 ALY 242 500 168,750 73,750
g 194,000
= 48,500
401 AlEHIZ 2 0HY| 242,500 168,750 73,750
Fag 194,000
= 48,500
01 Al&EH| 240,754 168,750 72,004
=g P2XEES A (E 7E)
242 ,500,000€ x99.28/100 240,754
Ry 194,000
= 46,754
03 Al 20| 1,746 0 1,746
OE4+Z2 PXEES MYE(E BE)
242 ,500,000< x0.72/100 1,746
ARE SAHIBHEY|(KHA) 1,070,000 1,012,000 58,000
401 AlEHIZL 2 0HY| 1,070,000 1,012,000 58,000
01 Al&H| 1,070,000 1,012,000 58,000
OXEg =24 8 MY 20,000,000 20,000
OXEg g88HH Jdctd8 MY 20,000,000 20,000
O&EgE ZHINLAY 10,000,000 304 & 30,000
OXES H&el 2EHINE A
10,000,000 * 104 & 10,000
ONEgs A2 HHINLAS
10,000,000 = 1JH £ 10,000
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M AL
Hu: N REHUM (AN LN/ 5 - 5E)
& =Y0Igt FHl
SA - ZE-B(EA) - NRAY - B S il &t o il
OnNZH &g 2FHLAY
10,000,000& *1JH £ 10,000
O9Jal 2FIFL ALY 10,000,000 *3H 2 30,000
OodlH =ZF2| 2ZIHYAM
10,000,000 *1JH £ 10,000
Ol Br2e| ZHZIHY AL
10,000,000 *1JH £ 10,000
O2dald Sl 2FIHLAY
10,000,000& * 104 2 10,000
O2ulH g3 2FINLAY
10,000,000& * 104 2 10,000
Oodl®H gl 2ZIHY A
10,000,000& * 104 2 10,000
OodlH HEe| 2ZIHYA
10,000,000 * 104 2 10,000
O2ulH BEe| 2FIHLAY
10,000,000 * 104 2 10,000
Ol = Ate] 2ZIHL A
10,000,000 * 104 2 10,000
O3 Huc| 2ZIHYA
10,000,000 * 104 2 10,000
O3 =22 2ZMHUAM
10,000,000& * 104 2 10,000
Ogad =2=H2X 7 2FMLAS
10,000,000 * 104 2 10,000
O3 =g 2ZMHLYAM
10,000,000& * 104 2 10,000
OgsH =24 2FIHLAS
10,000,000 * 104 2 10,000
O3 sl 2ZMHUYAM
10,000,000 * 104 2 10,000
OgalH el 2ZHLAY
10,000,000 * 104 2 10,000
Ol Ss3el 2ZNEAY
10,000,000 * 104 2 10,000
Oga®H Z&e| 2ZIMHLAM
10,000,000 * 104 2 10,000
Oz Sate| 2ZIHL A
10,000,000 * 104 2 10,000
O3z Ao 2HMNLAY
10,000,000 * 104 2 10,000
O3l Y2kl 7 ML AL
10,000,000 * 104 2 10,000
Ogsld Sael 2ZNLAY
10,000,000 * 104 2 10,000
OX4tH 20hH dcetRE A 20,000,000 20,000
OX&H TN LA 10,000,000 *3H 2 30,000
OX&HH s ee| 2FINL ALY
10,000,000 =104 2 10,000
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o = re

AL D
o RPHUM(sPoHYS
EBIETE T

SN HH-S(BN) - MBAY - B il HlnE2
OX4HH 2t2e| 2FIHE ALY
10,000,000& *1JH £ 10,000
OX&HH 222X 7 2FHNL AL
10,000,000& *1JH £ 10,000
OXAH gtEXe| 2HINLAS
10,000,000& *1JH £ 10,000
OX &t gtaaotel ML ALY
10,000,000& *1JH £ 10,000
OX4H @32 2FIHLAY
10,000,000& *1JH £ 10,000
OX&H FEe| 2FHLAY
10,000,000& *1JH £ 10,000
OXI&HH HHel 2FOHE ALY
10,000,000& *1JH £ 10,000
OX&H BHe| 2FIHLAY
10,000,000& *1JH £ 10,000
OXI&HH JpXlel 2FOHE ALY
10,000,000& *1JH £ 10,000
OXI&HH XX 7 2 EOH LA
10,000,000& *1JH £ 10,000
OXI&tH olxlel 2HINL A
10,000,000& *1JH £ 10,000
OXNAH AT 2HIHYANY
10,000,000& *1JH £ 10,000
OXEY &Rl 2FMLAY
10,000,000& *1JH £ 10,000
OX&EY sreie] 2FONE ALY
10,000,000& *1JH £ 10,000
OXEY KRE2 ZZNLAY
10,000,000& *1JH £ 10,000
HE+22 Mg (52X7) ,208,001 785,001 423,000
s 545,000
s 663,001
401 AIEHIZ 28I ,208,001 785,001 423,000
s 545,000
s 663,001
01 A& Hl ,077,287 764,355 312,932
S2XF NES B2 HEAY
1,077,287,000& ,077,287
s 545,000
s 532,287
02 Zeldl 125,194 15,700 109,494
O&=2X=7 XNEs B2 HEAY
2,208,000,000& *5.67/100 125,194
03 Al 2 0HHI 5,520 4,946 574
ES2XF XNES B2 LAY
2,208,000,000& *0.25/100 5,520
JI20l CHE CHEH AL HI (B2 s HES AL 42,000 735,000 A 693,000




EXN: otE2AL D
M N RHUM(SEHLLL/ 5 - 5E)
Ee: =gIl8t JH| (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
403 XX SHHS K20 & 42,000 735,000 A 693,000
02 BI2SHUSXA2EAEAIS Y 42,000 735,000 A 693,000
OJIAHSHEEZ LAY 42,000,000 42,000
g8 YA (22X F) 522,501 187,165 335,336
Fag 418,000
= 52,250
= 52,251
401 AlEHIZL 2 0HY| 522,501 187,165 335,336
Fag 418,000
= 52,250
= 52,251
01 Al&H| 494,808 177,076 317,732
O'"18 22X+ &I|IEBIAIY
522,500,000 x94.7/100 494,808
Fag 418,000
& 52,250
= 24 558
02 2elbl 24,401 8,741 15,660
O'18 S22 A7 &It AL
522,500,000 =4 .67/100 24,401
03 A& £ HH] 3,292 1,348 1,944
O'18 S22 A7 ZEI|etAE- AL
522,500,000 x0.63/100 3,292
g8 YA (AXZXIFP) 790,000 187,165 602,835
g 572,000
& 109,000
= 109,000
401 AlEHIZL 2 0HY| 790,000 187,165 602,835
Fag 572,000
& 109,000
= 109,000
01 Al& B 735,173 177,076 558,097
O'18 AZ X P ED|EHAHIAFYE 735,173,000 735,173
g 572,000
& 109,000
= 54,173
02 2teld| 50,903 8,741 42,162
O'"18 AX 7P EI|EtAYIALE
1 ;090,000,000 %4 .67/100 50,903
03 Al 201 Y| 3,924 1,348 2,576
O'"18 ALK &I BIAS
1,090,000,000& *0.36/100 3,924
=2l Al HE =AY 490,000 0 490,000
= 392,000
= 98,000
401 AlEHIZL 201 Y| 490,000 0 490,000




SN QEALD
M N RHUM(SEHLLL/ 5 - 5E)
Sl seole CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
e 392,000
s 98,000
01 A& HI 490,000 0 490,000
O=clAlZ HE==AE 490,000
—HsH 140,000,000& *1JH £ 140,000
s 112,000
e 28,000
— A=A 350,000,000 * 10 2 350,000
s 280,000
[ia 70,000
2olgt HHAS (FRXF) 187,501 0 187,501
s 150,000
< 18,750
s 18,751
401 AIEHI L 201 187,501 0 187,501
s 150,000
< 18,750
[ia 18,751
01 A& tl 177,394 0 177,394
O'"19 SUAF LIBEHIAG (OIS 2%)
187,500,000 *94.61/100 177,394
s 150,000
< 18,750
[ia 8,644
02 Zeltl 8,757 0 8,757
O'"19 SUXF LIBEHIAG (OIS 22)
187,500,000& *4.67/100 8,757
03 Al 2 THHI 1,350 0 1,350
O'"19 SUAF LIEHIAS (OIS 2%)
187,500,000& *0.72/100 1,350
OIS E AL (2 ALK ) 187,501 0 187,501
s 150,000
< 18,750
[ia 18,751
401 AIEHI L 2 CHYI 187,501 0 187,501
s 150,000
< 18,750
s 18,751
01 A& HI 177,394 0 177,394
O'"19 SALK 2 LIIBHEHIAIS (OIS &%)
187,500,000 *94.61/100 177,394
s 150,000
< 18,750
s 8,644
02 Zeltl 8,757 0 8,757
O'"19 SAHXI 7 I8 EHIALY (Ot S &t =)
187,500,000& *4.67/100 8,757




EXN: otE2AL D
M N RHUM(SEHLLL/ 5 - 5E)
Ee: =gIl8t JH| (e H)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
03 Al&E 201 Y| 1,350 0 1,350
O"19 DAK 7 IS AEHIAIY (IS &%)
187,500,000 *0.72/100 1,350
THoH 2 THUHo e (Yer2 2 /UBtal X ) 1,230,000 310,000 920,000
MNEseHE 29 1,230,000 310,000 920,000
HX O A XNIKAEH 2H 30,000 30,000 0
307 212t0| & 30,000 30,000 0
02 QIZHB AAIE E X 30,000 30,000 0
O XOIoHAH NJEE 290 OHE X2
30,000,000& 13| 30,000
Hroges A 54,000 230,000 A 176,000
301 et A= 54,000 54,000 0
04 A2 HMHAH XS 44,000 44,000 0
OBIHEEsS LU (7IHSH) 44,000,000& 44,000
09 SHAIAHI EAZ 10,000 10,000 0
OXEZ2-A2 E2 2 KHOHZASHA
10,000,000& *13] 10,000
S HAE (KA 1,146,000 50,000 1,096,000
201 gBt2Ay| 96,000 0 96,000
02 Z32%H| 96,000 0 96,000
OgX e ccty SAES 16,000
— QoY M= 1,000,000& 1038 & 10,000
—&IIANEE 500,000 x12& 6,000
oYY & cotv KAESE 2,500,000 204 A 50,000
Ot et ahA 1w Al 3,000,000 =10CH 30,000
401 AlEHIZL 2 0HY| 1,050,000 50,000 1,000,000
01 Al&H| 1,043,700 50,000 993,700
OcctvE et 2 MM E HE
1,000,000,000& x99.37/100 993,700
O & cotv &l AXl 50,000,000 50,000
03 A& £ 0HH| 6,300 0 6,300
OcctvE st 2 MAE A48 S0
1,000,000, 000 «0.63/100 6,300
N 2 CAMNL(2ELX ALY/ N HELZA]) 6,222,820 6,852,280 AN 629,460
K< OH AR 6,222,820 6,852,280 A 629,460
NS A 785,670 908,780 A 123,110
401 AlEHIZL 2 0HY| 785,670 908,780 A 123,110
01 Al&H| 785,670 905,000 A 119,330
ONEE 38 25 57 FHIZM
80,000,000 80,000




AN ALY
al

Ha: XY Y TANL(FELNIAMNL/NLALEA)
Sl NGHL A (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OXEE =& =2 FHISA 50,000,000& 50,000
OXEg edAM A5 BxZA 20,000,000 20,000
OoaH =E~EZ22 &2 UiAE FHISA
50,000,000& 50,000
OSAlH Atctel Bi=2Z HUISA
60,000,000& 60,000
OoaH 34| == FHISA
50,000,000& 50,000
O3l AHLel == EHISA
50,000,000& 50,000
OYslol 28 MWACR 57 U YR Y|
S A 110,000, 000& 110,000
O3 MdAAW IHAR SESA
100,000, 000& 100,000
OXMH LS8N HUXH22t &2 57 FHS
At 100,000, 000& 100,000
OX&H RECD f8== FHSAM
30,000,000& 30,000
OnN=ZH JAXZe| =2 HHIALY
40,000,000& 40,000
Oguld el =2 HHA
40,000,000& 40,000
OXNSIHLAE AL R
900,000, 000& *0.63/100 5,670
SHAMNL A 5,437,150 5,943,500 A 506,350
401 AIEHIZ 28I 5,437,150 5,943,500 A 506,350
01 A& HI 5,425,000 5,937,000 A 512,000
OMBURS DEUH HelA
20,000,000& x15A 300,000
OltS=HRAMTAIY 252+ & FHl
25,000,000& »14A 350,000
Oltst? 272 HEAS
10,000,000& 304 300,000
OltSEHAMETAIY =& =& & 0IdSDI
2,000,000 »500 Al & 100,000
OXES AHEL s2EEIA 30,000,000& 30,000
OXEE Zate] HAHEXSA 30,000, 000& 30,000
OdEs MEel o+ ZEHIA 20,000,000 20,000
OXEE =S40t &2 =2 FHSAM
20,000,000& 20,000
OrEES =gl WA ¢ ZESA
30,000,000& 30,000
OXEg dF2e 45223 A 30,000,000 30,000
OdEs =%cl &+ ZEHIZ A 20,000,000 20,000
OXEE DX A2 3A 20,000,000& 20,000
OXES ME12 s2 ZE IS A 20,000,000 20,000
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2N
X ZH -
L= B

el

et AL Bt
e L SANL(2ELXNANL/XNSELE
KIS OH & A

=

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

O&EE AtZ22] =2 FHIZA

30,000,000& 30,000
OFEg Z72l 2% L H+2BA

30,000,000& 30,000
OXEE EHel s2 & MHASAM

30,000,000& 30,000
OXEE &Eel =2 FHSAM

30,000,000& 30,000
O&EES UWetael s2 ZEHIA

20,000,000& 20,000
O&Eg tEA FLEAMY 20,000,000& 20,000
O&Eg =92 == HHISA

30,000, 000& 30,000
OXEE =Xl s2ZEIA 20,000,000& 20,000
O&EE el s2EZHIA 20,000,000& 20,000
OdEsg dEe WA L s EESA

30,000, 000& 30,000
O&EE ol&el S8 & s EZYEZA

30,000, 000& 30,000
OdEs gbtel SESAM 20,000,000& 20,000
OXEZ dF12l =2 A 30,000, 000& 30,000
OXEs EE2 tH+=2 SAl 30,000,000 30,000
OXEE UatE ZotE ZEIA

30,000,000& 30,000
ONEE ¥Fel 52 (42)BUIZA

15,000, 000& 15,000
ORETE Nl HABS(AF)SA

10,000, 000& 10,000
OZUWY =&l =2 HHISA

30,000,000& 30,000
OZUWY st =8 HHIZA  20,000,000& 20,000
OZUH UAtel Eti+=2 ZHISA

10,000, 000& 10,000
OZUWY ==el StEaMY ZEHIA

20,000,000& 20,000
OZUY FHel &2 HEE SA

10,000, 000& 10,000
OZUH etAtel 52 HSH SA

10,000, 000& 10,000
O=UdH gtzel =2 Z&E I3 A 10,000,000 10,000
Oz WY stolel =2 EHISA

30,000,000& 30,000
O=ZUues el o+ THEZE ZAL 15,000,000 15,000
O=UdH Msel =2 ZEEA 10,000,000 10,000
Oz =del =2 HHISA

30,000, 000& 30,000
Oz Fel =2 HHISA

30,000, 000& 30,000

- 21 -




AN AL D
Ha: XY Y TANL(FELNIAMNL/NLALEA)
Sl NGHL A (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O tHokel Bi==2 ZEHIZA
30,000,000& 30,000
OZ WY =Hel == ZHIZA
30,000,000& 30,000
OZ Y dsel =2 HHIZA
20,000,000& 20,000
OZUY Asel =2 FHISAM
30,000,000& 30,000
OZUH EFel == FHISAM
30,000,000& 30,000
OZUH Sl == FHISA
25,000,000& 25,000
OZUY &otel =2 FHISAM
25,000,000& 25,000
OZ WY Adtel OtA2 IMRIIZ A
30,000,000& 30,000
OZ WY ZXtel == HHIZA
30,000,000& 30,000
OZ WY 2ASitel =2 FHISA
30,000,000& 30,000
OZUH ddlel =2 FEISA
40,000,000& 40,000
OZUH 222l == JHI3A
30,000,000& 30,000
O=UdH g2l =2 Z&EEA 30,000,000 30,000
OZUHH E9el HHAIESA 20,000,000& 20,000
O WY Edel == EHIZA
20,000,000& 20,000
OnN=ZH Asel == HHISA
20,000,000& 20,000
Oln=™ otEal 0tz FHISA
20,000,000& 20,000
Olnl=H 832l =2 ZEEA 20,000,000 20,000
O1=H Otatel =2 HHISAH
20,000, 000& 20,000
ON=zZH g2 =28 ZEI AL 20,000,000 20,000
On=ZY slsel w2 ddHlZA  20,000,000& 20,000
OlzZdH A3el E+==2 ZHISA
40,000,000& 40,000
Oz "L =2 FHISAM
25,000,000& 25,000
Oln=Y |l &2 L =2 FHSAM
40,000,000& 40,000
OnNzY 272l =2 2 == S M
30,000,000& 30,000
OlN=z=H 25tel =2 Z&E 3 A 50,000,000 50,000
Oz 22 Alel ot EHISA
40,000,000& 40,000
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AN AL D
Ha: XY Y TANL(FELNIAMNL/NLALEA)
Sl XIS ALY (29l & 2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ODn=Y dlelel =2 EHIZA
50,000,000& 50,000
Ol=H &8 s2ZF3A 20,000,000& 20,000
OXd=ZY Jtilel s2 EHIZA  20,000,000& 20,000
Oz KUl == FHISA
30,000,000& 30,000
Oln=H™ 3lsel == FHISA
30,000,000& 30,000
OnN=ZH Asel == EHISA
20,000,000& 20,000
On=ZH otsel sZ2EZHIA 45,000,000& 45,000
O1N=H JtiHel s=2ZEIA 20,000,000 20,000
ODNZH ZAEl B2 EHHISA
30,000,000& 30,000
On=H ZAtel e+ ZEHI AL 20,000,000 20,000
O9dlH &3e| == HUIZA
30,000, 000& 30,000
Oguld =2 =2 { sZTHUIMG
30,000, 000& 30,000
OodlH AS0tsetd LI A 20,000,000 20,000
A HEZ SZEFZSA 15,000, 000& 15,000
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